LO: To plot and read coordinates in all four quadrants (bronze).

1) 2)

Plot the following coordinates: b4

(4,5) (3,2) (5.1) (1,-5)pV-s A |

2 I-

3442348 1234588

 x-axis Write the coordingtes for each vertex of each square.

"y T

squore & =

square B =

3) 4)

That virboes of & gusdrssisrs hayve these ooorbnates

O 1w prid traee thres powrs Pl linats
i il (.5 (5, 4) (. -3 (-3.4)

1 Dy mici of They cuaciriatornsl s Deen drmen on The grd.
]
; - Comgpiets the quadristenl
4 s i ruier
3 ¥ i
Y .
1 5 L
)
\ 4 N
A & -4 -3 -2 4 1 2 3 4 8 B »
3
3 &
3 1
4
v M -5 =4 =3 = -1 0 1 o ' E
-5 i
8 -
=3
Lara piois anather point on the grd st =1, 3. -
5N [oird e GOms 1o make i quadrissensl 5
..|.i|.i1.: ..q




LO: To plot and read coordinates in all four quadrants (silver).
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LO: To plot and read coordinates in all four quadrants (gold).
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e Write down the co-ordinates of the
vertices of the shapes below.

Layla draws a square on this coordinate grid.

Three of the vertices are marked.

o s
:, 4 4
o | 6 5 4 -3 -2 -10] 1 2 3 & 5
5 4 -3 2 1 o 12 3 4 656 o
| _1 -3
tod f
=3 -
-4
| _E What are the coordinates of the missing vertex?
(
3) 4)
The diagram shows two identical Here are two identical riangies.
triangles.
Not to scale
The coordinates of three points are A :
shown, B E
Find the coordinates of point A. A 0,9)
0 - X
(0,-6)|  (i1,-6)

Write the coordinates of points A and B




LO: To plot and read coordinates in all four quadrants (bronze)-answers.
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LO: To plot and read coordinates in all four quadrants (silver)-answers.
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LO: To plot and read coordinates in all four quadrants (gold)-answers.
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vertices of the shapes below.
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Layla draws a square on this coordinate grid.

Three of the vertices are marked.
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